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Unit – I: General Science 
 

Physics 
 

1. Two Capacitors of Capacitance 3μF and 6μF are connected in series 
combination. Their equivalent capacitors will be 
a. 2 μF  b. 3 μF  c. 6 μF  d. 9 μF 
,uz;L nfhz;kpfspd; nfhz;ik 3μF kw;Wk; 6μF. mitfspd; njhlh; 
,izg;gpy;> rkz nfhz;ik vd;d? 

a. 2 μF  b. 3 μF  c. 6 μF  d. 9 μF 
 

2. Newton’s law of gravitation states that 
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Chemistry 

 
3. Plaster of Paris is  

a. CaSO4.H2O   b. CaSO4. 1
2

H2O 

c. CaSO4.2H2O   d. CaSO4. 3
2

H2O 

ghhP]; rhe;J vd;gJ ___ MFk;. 

a. CaSO4.H2O     b. CaSO4. 1
2

H2O 

c. CaSO4.2H2O     d. CaSO4. 3
2

H2O 

 
4. Marble contains 

a. ZnCo3  b. CaCO3  c. MgCO3  d. K2CO3 

ryitf; fy;ypy; (gspq;F) _____ cs;sJ. 

ZnCO3  b. CaCO3  c. MgCO3  d. K2CO3 
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Bio – Botany 
 

5. Consider the following statements: 
Assertion (A): The Free floating hydrophytes Eichhornia and Salvina in 

the aquatic bodies are problematic 
Reasons (R): Since they easily spread and cover the entire surface and 

blocked the water way 
a. A false R false    b. A True R true 
c. A true R false    d. A false R true 
$w;W (A):  ePupy; kpjf;Fk; jhtuq;fshd If;fhh;dpah (Mfha jhkiu)  
   kw;Wk; rhy;tpdpah ePu;epiyfspy; mjpfhpg;gJ mitfSf;F 
   Mgj;ij Vw;gLj;Jk;. 

fhuzk; (R): ,itfs; kpfj;Jhpjkhf ePhpd; Nkw;gug;G KOtJk; gutp 
ePNuhl;lj;ij jil nra;JtpLk;. 

a. (A) jtW (R) jtW    b. (A) rhp (R) rhp 
c. (A) rhp (R) jtW    d. (A) jtW (R) rhp 
 

Bio - Zoology 
 

6. How many barr body is found in normal women? 
a. One  b. Two  c. Twenty Two   d. Twenty three 
,ay;ghd ngz;fspy; vj;jid ghh; cWg;Gfs; fhzg;gLfpd;wd? 

a. xd;W     b. ,uz;L   

c. ,Ugj;jpnuz;L    d. ,Ugj;J%d;W 

 
7. Holandric genes are called 

a. Carried by X chromosomes   
b. Carried by autosomes 
c. Carried by different parts of Y Chromosomes 
d. Carried by X and Y Chromosomes 
N`hyhz;l;hpf; [Pd;fs; vd;gJ ____ MFk;. 

a. X FNuhNkhNrhk;fshy; nray;gLj;jg;gLfpwJ. 
b. Ml;NlhNrhk;fshy; nray;gLj;jg;gLfpwJ 

c. gy;NtW gFjpfspy; cs;s Y FNuhNkhNrhk;fshy; nray;gLj;jg;gLfpwJ 
d. X kw;Wk; Y FNuhNkhNrhk;fshy; nray;gLj;jg;gLfpwJ 
 

8. ________ is not a living Amphibia 
a. Siphonops   b. Eryops   c. Hynobius  d. Triton 
___ vd;gJ caph;thOk; ,Utho;tpfs; my;y. 

a. irgdhg;];    b. vhpNahg;]; 

c. i`aNdhgpa];   d. bhplhd; 
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Unit – II: Current Affairs 
 

9. Match the list I with List II and select the correct answer using the code 
given below: 
  List I       List II  

App      Use 
A. BHIM App   1. For using Aadhar Platforms 
B. SAKHI App    2. For Highway users 
C. SUKAHD YATRA App 3. For nurturing women entrepreneurs 
 A B C 
a. 2 3 1 
b. 1 3 2 
c. 3 1 2 
d.  3 2 1 
gl;bay; I kw;Wk; gl;bay; II-I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd 
tpiliaj; Nju;T nra;f. 

gl;bay; I   gl;bay; II 
 A. BHIM App   1. Mjhu; gad;ghl;bw;fhdJ 

B. SAKHI App   2. neLQ;rhiyia gad;gLj;JNthh;f;fhdJ 

C. SUKAHD YATRA App  3. ngz; njhopy; KidNthhpd; Nkk;ghl;bw;fhdJ 

 A B C 
a. 2 3 1 
b. 1 3 2 
c. 3 1 2 
d.  3 2 1 
 

10. Who is the Tamil Poet received the Yua Purasker award a\for the year 2019 
by Sahitya academy? 
a. Viramuthu    b. Sabainathan 
c. Piraisooden    d. Na. Muthukumar 
2019-Mz;bw;fhd rhfpj;a mnflkp toq;Fk; At Gu];fhh; tpUJ ngw;Ws;s 
jkpo; ftpQh; ahh;? 

a. ituKj;J    b. rghpehjd; 
c. gpiw#ld;    d. eh. Kj;Jf;Fkhh; 
 

11. The Name of the launching vehicle used to launch Chandrayan-2 is  
a. PSLV  b. GSLV MKIII c. GSLV III  d. PSLV-C45 
re;jpuhad;-2 I nrYj;j gad;gLj;jg;gl;l nrYj;J thfdj;jpd; ngah; 

a. PSLV  b. GSLV MKIII c. GSLV III  d. PSLV-C45 
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GK 
 
 

12. There is an award given to the best coach in sports. What’s it called? 
a. Arjuna Award   b. Rajiv Gandhi Hhel Ratna Award 
c. Dronacharya Award  d. Dhyanchand Award 
tpisahl;by; kpfr; rpwe;j gapw;rpahsUf;fhd tpUJ xd;W toq;fg;gLfpd;wJ. 
mjid vt;thW miog;ghh;fs;? 

a. mh;[_dh tpUJ    b. ,uh[pt; fhe;jp Nfy; uj;dh tpUJ 
c. JNuhzhr;rhpah tpUJ  d. jahd; re;j; tpUJ 
 

Unit – III: Indian Geography 
13. Which one of the following ethnic groups does not belong to India? 

a. Negrito Race    b. Caucosoid Race 
c. Mongoloid Race   d. Mediterranean Race  
gpd;tUk; ,df;FOtpy; ,e;jpa ,dq;fspy; cl;glhjJ vJ? 

a. fUg;G ,dk;    b. fhNfrpah; ,dk; 
c. kq;Nfhspah; ,dk;   d. kj;jpaj; jiuf;fly; ,dk; 
 

14. The headquarters of the north east frontier railway in India 
a. Bombay   b. Chennai   c. Maligaon  d. Delhi 
,e;jpahtpd; tlfpof;F vy;iyNahu ,uapy;Ntapd; jiyikafk; 

a. Kk;ig  b. nrd;id  c. kypfhd;  d. nly;yp 
 

15. Match the following river system with their rivers: 
A. Indus River System    - 1. Panch Ganga 
B. Brahmaputra River System  - 2. Jhelum  
C. Godavari River System   - 3. Bhima 
D. Krishna River System   - 4. Sankosh 
 A B C D 
a. 4 3 1 2 
b. 2 3 4 1 
c. 2 4 1 3 
d. 2 4 1 3 
gpd;tUk; ejp njhFg;Gfis mitfspd; ejpfNshL nghUj;Jf. 

A. ,e;J ejp njhFg;G   1. gQ;r fq;fh 

B. gpuk;kGj;jpuh ejp njhFg;G  2. [Pyk; 

C. Nfhjhthp ejp njhFg;G  3. gPkh 

D. fpU~;zh ejp njhFg;G  4. rq;Nfh~; 

 A B C D 
a. 4 3 1 2 
b. 2 3 4 1 
c. 2 4 1 3 
d. 2 4 1 3 
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16. Arrange the following mountain ranges from north to south and select the 

correct answer using the code given below 
1. Karakoran Range   2. Ladakh Range 
3. Pir-Panjal Range   4. Zasker Rage 
a. 1, 2, 3 and 4  b. 2, 1, 4 and 3  c. 2, 1, 3 and 4  d. 1, 2, 4 and 3 
fPo;f;fz;l kiyj;njhlu;fis tlf;F njw;fhf thpirg;gLj;jp> fPNo 
nfhLf;fg;gl;Ls;s FwpaPl;ilg; gad;gLj;jp rhpahd gjpiy Nju;e;njLf;fTk;. 
1. fhuNfhuk; kiyj;njhlu; 
2. ylhf; kiyj;njhlu; 
3. gPu;ghd;[y; kiyj;njhlu; 
4. [h];fhh; kiyj;njhlu; 

a. 1> 2> 3 kw;Wk; 4    b. 2> 1> 4 kw;Wk; 3 
c. 2> 1> 3 kw;Wk; 4    d. 1> 2> 4 kw;Wk; 3 

 
17. Match List I with List II and select the correct answer by using the codes 

given below: 
List I     List II 

 A. Silk Industry   - 1. West Bengal 
 B. Cotton Industry  - 2. Tamil Nadu 
 C. Coir Industry   - 3. Maharashtra 
 D. Jute Industry   - 4. Kerala 
  A B C D 
 a. 2 3 4 1  
 b. 4 1 3 2 
 c. 1 3 2 4 

d. 3 1 2 4 
gl;bay; I kw;Wk; II –ia nghUj;jp fPo;f;nfhLf;fg;gl;Ls;s FwpaPLfis 
gad;gLj;jp rhpahd tpilia Njh;e;njLf;f. 

gl;bay; I    gl;bay; II 
A. gl;L njhopw;rhiy  1. Nkw;F tq;fhsk; 

B. gUj;jp njhopw;rhiy  2. jkpo;ehL 

C. fapW njhopw;rhiy  3. kfhuh~;buh 

D. rzy; njhopw;rhiy  4. Nfush 

  A B C D 
 a. 2 3 4 1  
 b. 4 1 3 2 
 c. 1 3 2 4 

d. 3 1 2 4 
 
18. Match the following Aluminium plants with their place of location: 

A. BALCO   1. Metturdam 
B. HINDALCO  2. Korba 
C. MALCO   3. Koraput 
D. NALCO   4. Renukoot 
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 A B C D 
a. 4 2 3 1 
b. 2 4 1 3 
c. 3 1 4 2 
d. 4 1 2 3 
gpd;tUk; mYkpdpak; njhopw;rhiyfis mtw;wpd; ,Ug;gplj;Jld; nghUj;Jf: 

A. BALCO   1. Nkl;̂ h; 
B. HINDALCO  2. Nfhh;gh 
C. MALCO   3. NfhuhGl; 
D. NALCO   4. NuZf;$l; 
 A B C D 
a. 4 2 3 1 
b. 2 4 1 3 
c. 3 1 4 2 
d. 4 1 2 3 

 
 

Unit – IV: History and Culture of India 
19. Which factor wad closely responsible for the decline of the Mauryan 

empire? 
a. Asoka’s Pacific Policies    
b. Pro-Jain policies of Asoka’s successors 
c. Revolt of Pusyamitra 
d. Asoka’s policy of non-violence because it weakened the military and it 
led to weak administration 
nkshpag; Nguurpd; tPo;r;rpf;F vJ fhuzkhf mike;jJ? 

a. mNrhfhpd; mikjp nfhs;iffs; 

b. mNrhfhpd; topj;Njhd;wy;fs; rkzh;fisg; Nghw;wpaJ 

c. G];rkpj;jpuhpd; fyfk; 

d. mNrhfhpd; m`pk;irf; nfhs;if ,uhZtj;ij tYtpof;fr; nra;J 
eph;thfk; tYtpof;fTk; top tpl;lJ. 

 
20. Which of the statement is correct regarding Muhammad Gawan? 

1. He Wrote to prominence during the reign of Alauddin Ahammad Shah II 
2. He wrote the chief Minister under Humayun 
3. He was a afagi 
4. He was executed by a sultan in 1481 
a. 1, 2 are correct 3, 4 are incorrect 
b. 1, 3 are correct 2, 4 are incorrect 
c. 1, 2, 4 are correct 3 only incorrect 
d. All are correct 
KfkJ fthid gw;wpajpy; fPo;fz;ltw;wpy; rhpahd $w;W vJ? 

1. ,uz;lhk; myhTjPd; mfkJ ~h fhyj;jpy; KfkJ fthd; gpurpj;jp 
ngw;wtuhf ,Ue;jhh;. 
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2. `pkhAd; fhyj;jpy; ,th; Kjy; ke;jphpahf ,Ue;jhh;. 

3. KfkJ fthd; xU mghf;fp 

4. 1481 Mk; Mz;L Ry;jhdhy; KfkJ fthd; J}f;fpyplg;gl;lhh;. 

a. 1> 2 kl;Lk; rhp> 3> 4 jtwhdJ 
b. 1> 3 kl;Lk; rhp> 2> 4 jtwhdJ 
c. 1> 2> 4 kl;Lk; rhp> 3 kl;Lk; jtwhdJ 
d. midj;Jk; rhpahdJ 

 
21. Which one of the following is not correct about the extent of the Indus 

Valley culture and civilisation? 
a. Whole of Sind    b. South Punjab 
c. Baluchistan    d. Ganges Valley 
fPo;f;fz;ltw;Ws; rpe;J rkntsp gz;ghL kw;Wk; ehfhPf fsg;gug;gpd; msT 
gw;wpa jtwhd $w;W vJ? 

a. rpe;J KOtJk;    b. njw;F gQ;rhg; 

c. gYrp];jhd;    d. fq;ifr; rkntsp 
 

22. __________ the Moorish traveller wrote about the condition of Tamil Nadu 
during Muhammed bin-Tughalk? 
a. Ibn-Batuta  b. Marcopolo 
c. Ptolemy    d. Livy 
____ vd;w %hp]; gazp Kfk;kJ-gpd; Jf;sf; fhyj;jpy; jkpofj;jpd; 
epiyapid njspthf tpthpj;Js;shh;. 

a. ,gd;-gJ}jh     b. khh;f;NfhNghNyh 
c. lhypkp      d. yptp 
 

23. Which language was identified to locate the Indian civilization with in the 
boundaries of British India? 
a. Pali  b. Prakrit  c. Sanskrit  d. Tamil 
gphpl;b~; ,e;jpa vy;iyf;Fs; ,e;jpa ehfhPfj;jpid fz;lwpa ve;j nkhop 
milahsg;gLj;jg;gl;lJ? 

a. ghyp  b. gpuhfpUjk; c. rk];fpUjk; d. jkpo; 
 

24. Who studied comparatively Buddha legends at the life of the Jesus through 
Bible and Buddha Jataka stories? 
a. Arthur A.MacDonnell   b. a. Berriedale Keith 
c. C.M.Bowra     d. D.Maurice Winterwitz 
ahh; Gj;j [hjff; fijfisAk; iggpisAk; xg;gpl;L ,NaRtpd; 
tho;tpidAk; Gj;jh; gw;wpa rk;gtq;fisAk; Ma;e;jhh;? 

a. Mh;jh; v.nkf;nlhdhy;   b. v.gphpj;Njy; fPj; 
c. rp.vk;. ngsuh     d. nkshp]; tpd;lh;epl;]; 

 
25. What is the correct chronology of the following events of Akbar’s reign? 

I. Conquest of Malwa 
II. Abolition of pilgrim tax 
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III. Promulgation of Din-I-Ilahi 
IV. Construction of Ibadat Khana at Fatehpur sikri 

 a. I, II, IV, III b. II, I, IV, III c. III, IV, I, II d.  IV, I, II, II 
gpd;tUk; epfo;Tfspy; mf;guJ Ml;rpapd; rhpahd thpir vJ? 

I. khs;th ntw;wp 
II. ahj;hpfh;fspd; thpia xopj;jy; 
III. jPd;-I-,yh`pia gpufldg;gLj;Jjy; 
IV. gNjg+h; rpf;hpapy; ,ghjj;fhdit jPh;khdpj;jy; 

 a. I, II, IV, III b. II, I, IV, III c. III, IV, I, II d.  IV, I, II, II 
 

26. How was Sultans of Delhi called? 
a. Ashvapati (lord of horses) b. Gajapati (lord of elephants) 
c. Ganapati (lord of class)  d. Narapati (lord of men) 
nly;yp Ry;jhd; vt;thW miof;fg;gl;lhh;? 

a. m~;tgjp (Fjpiufspd; jiyth;) b. f[gjp (ahidfspd; jiyth;) 
c. fzgjp (Fyq;fspd; jiyth;) d. eugjp (kdpjhpd; jiyth;) 
 
 

 
Unit – V: Indian Polity 

 
27. Indian constitution was adopted on 

a. 26th November 1949    b. 26th July 1949 
c. 26th May 1949     d. 26th June 1949 
,e;jpa murpayikg;G Vw;Wf;nfhs;sg;gl;lJ 

a. 26 etk;gh; 1949    b. 26 [_iy 1949 
c. 26 Nk 1949    d. 26 [_iy 1949 
  

28. According to AK Gopalan Vs. State of Madras case which of the following 
Act was challenged as Invalid? 
a. Madras land Reform Act 1961 
b. Preventive Detention Act 1950 
c. Kerala Agrarian Reform Act 1961 
d. Madras Devadasi (Prevention of Dedication) Act 1947 
A. K. Nfhghyd; kw;Wk; kjuh]; khepyj;jpw;fpilNaahd tof;fpy; 
fPo;tUtdtw;Ws; ve;j rl;lk; jtwhdJ vd;W $wg;gl;lJ 

a. kjuh]; epy rPuikg;G rl;lk; 1961 

b. jLg;G fhty; rl;lk; 1950 
c. Nfush tptrha rPuikg;G rl;lk; 1961 
d. kjuh]; Njtjhrp (jLg;G kw;Wk; mh;gzpg;G) rl;lk; 1947 

 
29. The directive principles of State Policy and placed in which part of Indian 

Constitution? 
a. Part IV  b. Part V  c. Part VI   d. Part VII 
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,e;jpa murpayikg;gpd; ve;jg; gFjpapy; muR topfhl;L newpKiwf; 
nfhs;iffs; ,lk;ngw;Ws;sd? 

a. gFjp IV  b. gFjp V  c. gFjp VI  d. gFjp VII 
 

30. How many fundamental freedoms are guaranteed by Article 19 of the 
Indian Constitution? 
a. 7  b. 6  c. 8  d. 9   
,e;jpa murpayikg;gpd; ~uj;J 19 vj;jid mbg;gil Rje;jpuq;fis 
cj;juthjkspf;fpwJ? 

a. 7   b. 6  c. 8   d. 9 
 

31. Who Stated, “Indian Constitution is first and foremost a social document? 
a. Granville Austin  b. Pylee 
c. Motilal Nehru    d. None of the above 
“,e;jpa murpayikg;G> Kjy; kw;Wk; Kjd;ikahf> xU r%f MtzkhFk;” 
vdf; $wpath; ahh;? 

a. fpud;tpy; M];bd;    b. igyp 
c. Nkhjpyhy; NeU     d. Nkw;$wpa vJTkpy;iy 
 

32. Which Indian leader laid the idea of Secularism in the mind of the people? 
a. Jawaharlal Nehru    b. K.Kamaraj 
c. M.K.Gandhi     d. Rabindranath Tagore 
,e;jpahtpd; ve;j jiyth; kf;fs; kdj;jpy; rkar;rhh;gpd;ik vd;w 
fUj;jpidg; gjpj;jhh;? 

a. [t`h;yhy; NeU    b. K. fhkuh[; 
c. M.K. fhe;jp     d. ,ugpe;juehj; jh$h; 
 

33. ‘In a situation of political breakdown in the state the Governor should 
explore all the possibilities of having a majority Government was said by  
a. Sarkaria Commission  b. Santhanam Committee 
c. L.M.Singhvi Committee  d. Rajamannar Committee 
‘khepyj;jpy; murpay; tPo;r;rp Vw;gLk; NghJ khepy MSeh;> ngUk;ghz;ik 

murpw;fhd midj;J rhj;jpa $WfisAk; Muha Ntz;Lk;” vd;W $wpath; 
a. rh;fhhpah FO    b. re;jhdk; FO 

c. L.M. rpq;tp FO   d. uh[kd;dhh; FO 
 

34. Reservation of seats in Panchayati Raj for SCs/STs is according to which of 
the following articles? 
a. Article 243 (D)      b. Article 243 (A) 
c. Article 243 (B)      d. Article 243 (C) 
fPo;tUtdtw;Ws; ve;j tpjpapd; fPo; gQ;rhaj;Juh[; mikg;Gfspy; SC kw;Wk; 
ST ,dj;jtUf;fhd ,lxJf;fPL gw;wp $WfpwJ? 
a. gphpT 243 (D)      b. gphpT 243 (A) 
c. gphpT 243 (B)      d. gphpT 243 (C) 
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35. Who is the Head of State in India? 
a. Prime Minister     b. Chief Manister 
c. Home Minister     d. None of the above 
,e;jpahtpy;> murpd; jiyth; ahh;? 

a. gpujkh;     b. Kjy;th; 

c. cs;Jiw mikr;rh;   d. Nkw;$wpa vJTkpy;iy 
 

 
Unit – VI: Indian Economy 

 
36. Which of the following two products are excluded from the ambit GST? 

1. Petroleum  2. Cotton  3. Steel  4. Tobacco 
a. 1 and 4 only    b. 2 and 3 only  
c. 1 and 3 only    d. 2 and 4 only 
fPNo fhzg;gLk; nghUs;fspy;> nghUs;fs; kw;Wk; Nritfs; thpapypUe;J 
jtph;f;fg;gl;l ,uz;L nghUl;fs; vit? 
1. ngl;Nuhypak; 
2. gUj;jp 
3. v/F 
4. Gifapiy 

a. 1 kw;Wk; 4 kl;Lk;    b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;    d. 2 kw;Wk; 4 kl;Lk; 

 
37. Match the List I with List II and select the correct answer using the codes 

given below: 
List I       List II 
Goods      GST rate 

 A. Household necessities     1. 5% 
 B. Computers and Processed food  2. 28% 

C. Capital goods and Industrial  3. 12% 
D. Luxury items      4. 18% 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 1 4 2 3 
d.    1 3 4 2 
gl;bay; I kw;Wk; gl;bay; II –ia nghUj;jp fPNof;nfhLf;fg;gl;Ls;s rhpahd 
tpilia Nju;T nra;f. 

gl;bay; I         gl;bay; II 
nghUl;fs;         [pv];b tPjk; 

A. tPl;L mj;jpahtrpag; nghUl;fs;      1. 5% 

B. fzpg;nghwp kw;Wk; gjg;gLj;jg;gl;l czT tiffs;  2. 28% 

C. %yjdg; nghUl;fs; kw;Wk; Miy ,ilepiyg;nghUl;fs; 3. 12% 

D. Mlk;gug; nghUl;fs;       4. 18% 
 A B C D 
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a. 1 2 3 4 
b. 4 3 2 1 
c. 1 4 2 3 
d.    1 3 4 2 
 

38. The chairman of the fifteenth finance commission of India 
a. A.K.Chanda b. K.C.Pant  c. Y.V.Reddy d. N.K.Singh 
,e;jpahtpd; gjpide;jhtJ epjpf; FOtpd; jiyth; 

a. V.Nf.re;jh b. Nf.rp.ge;j;  c. xa;.tp.nul;b d. vd;.Nf.rpq; 
 

39. “A State in which the value of money is falling: and prices are rising is 
called” 
a. Inflation  b. Deflation c. Stagflation d. Recession  
gzj;jpd; kjpg;G tPo;r;rpaile;J nfhz;bUf;Fk; xU khepyk;> mjhtJ 
tpiyfs; cah;fpd;wd 

a. gztPf;fk; b. gzthl;lk; c. Njf;fk;  d. ke;jepiy 
 

40. How do you term the employment occurring only on a particular season? 
a. Open  b. Disguised  c. Seasonal  d. Rural 
xU Fwpg;gpl;l gUtj;jpy; kl;LNk epfOk; Ntiytha;g;ig ePq;fs; vt;thW 
Fwpg;gpLtPh;fs;? 

a. jpwe;j  b. khWNtlkpl;l  c. gUtfhy  d. fpuhg;Gw 
 

41. Match List I with List II and choose the correct answer by using the codes 
given below: 
List I      List II 
A. MRTP    1. Maintenance of foreign exchange  
B. FEMA    2. Promotion of industrial peace 
C. Industrial Disputes Act 3. Control of unfair trade practices 
D. Wealth Tax   4. Reducing the concentration of 
      economic power 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 1 3 
d. 3 1 2 4 
gl;bay; I kw;Wk; gl;bay; II-ia nghUj;jp fPo;f; nfhLf;fg;gl;Ls;s 
FwpaPLfis gad;gLj;jp rhpahd tpilia Njh;e;njLf;f. 

gl;bay; I     gl;bay; II 
A. MRTP     1.me;epa nrythzpia guhkhpj;jy; 

B. FEMA     2. njhopy; mikjpia Cf;Ftpj;jy; 

C. njhopy; jfuhW rl;lk; 3.epahakw;w thzpg Kiwfis 
      fl;Lg;gLj;Jjy; 

D. nry;t thp   4.nghUshjhu Mw;wy; nrwptpid 
      Fiwj;jy; 
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 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 1 3 
d. 3 1 2 4 
 

42. Which among the following statements are true for the proposed GST 
arrangements in India? 

I. Both centre and State taxes will be collected at the point of sale. 
II. The centre and State GST will be changed on the manufacturing cost.  

Of the above, Which statement is true? 
 Answer from the codes below.  
 a. Neither I nor II is true   b. Only I is ture 
 c. Only II is true     d. Both I and II are true 
 ,e;jpahtpy; Kd;nkhopag;gl;l Nrit thpr;rl;l Vw;ghLfSf;F gpd;tUk; 
 mwpf;iffspy; ,J cz;ik 

I. ika kw;Wk; khepy thpfs; ,uz;Lk; tpw;gid Neuj;jpy; Nrfhpf;fg;gLk;. 

II. cw;gj;jp nrytpy; ika kw;Wk; khepy nghUl;fs; kw;Wk; Nrit thp 
khw;wg;gLk;. 

 Nkw;fz;ltw;wpy; ve;j mwpf;if cz;ik vd fPNo nfhLf;fg;gl;Ls;s 
 FwpaPLfspypUe;J gjpy; juTk;. 

 a. Nkw;$wpa vJTkpy;iy   b. I kl;Lk; rhp 
 c. II kl;Lk; rhp     d. I kw;Wk; II ,uz;Lk; rhp 
  

43. Which of the following functions/s is performed by the Reserve Bank of 
India? 
1. Issue of Currency   2. Control of Exchange rate 
3. Neutrality of money   4. Control of commercial banking 
a. 1 only b. 2 only  c. 1, 2 and 4 only  d. 1, 2, 3 and 4 
fPo;fz;l gzpfspy; hprh;t; tq;fp Nkw;nfhs;Sk; gzpfs; ahit? 
1. gzj;ij ntspapLjy; 
2. khw;WtPjj;ij fl;Lg;gLj;Jjy; 
3. gzj;jpd; eLepiyik 
4. tzpf tq;fpfisf; fl;Lg;gLj;Jjy; 

a. 1 kl;Lk; b. 2 kl;Lk;  c. 1, 2 kw;Wk; 4 kl;Lk; d. 1, 2, 3 kw;Wk; 4 
 
 

 
Unit – VII: Indian National Movement 

 
44. Where did the revolutionary Ghadar Movement of Punjab started? 

a. London   b. Paris  c. Tokyo   d. San Francisco 
gQ;rhgpa Gul;rpfukhd ‘fjh; ,af;fk;’ vq;F Jtq;fg;gl;lJ? 
a. yz;ld;    b. ghhP]; 

c. Nlhf;fpNah   d. rd;gpuhd;rp];Nfh 
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45. As a symbol of Swadeshi Movement, a national college was started in 

Calcutta and it’s first principle was 
a. Chandra Pal    b. Aurobindo Ghose 
c. Sankar Mukerji   d. Devandra Nath Datta 
RNjrp ,af;fj;jpd; milahskhf fy;fj;jhtpy; Muk;gpf;fg;gl;l Njrpa 

fy;Y}hpapd; Kjd; Kjy;th; ___ Mthh;. 

a. re;jpu ghy;     b. mugpe;Njh Nfh~; 

c. rq;fh; Kfh;[p     d. NjNte;jpu ehj; jj;jh 
 

46. Who organized the East India Association in London? 
a. Raja Ram Mohan Roy  b. Surendranath Banerjee 
c. William Vetterban   d. Dadabhai Naoroji 
yz;ldpy; fpof;F ,e;jpa $l;likg;ig cUthf;fpath; ahh;? 

a. ,uh[h uhk; Nkhfd; uha;   b. RNue;jpuehj; ghdh;[p 
c. tpy;ypak; ntl;lh;gd;    d. jhjhgha; nesNuh[p 
 

47. What was the Chief outcome of the Santhals Rebellion of 1855? 
a. Got the right to revolt    b. Free from slavery system  
c. The Bengal tenancy act was passed  d. Santhals settled in Calcutta 
1855 Mk; Mz;L re;jhyh;fspd; Gul;rp %ykhf ngw;w Kjd;ikahd 
gpujpgyd; vd;d? 

a. NghuhLtjw;fhd chpikia ngw;whh;fs; 

b. mbik Kiwapy; ,Ue;J tpLtpf;fg;gl;ldh; 

c. tq;fhs FbAhpik rl;lk; cUthdJ 

d. re;jhyh;fs; fy;fj;jhtpy; FbNawpdh; 
 

48. Who wrote these sentences, “The presence of the British in India is an 
invitation to Japan to invade India”? 
a. Mahatma Gandhi   b. Jawaharlal Nehru 
c. Subhash Chandra Bose  d. Aurobindo Ghosh  
“Mq;fpNyah;fs; ,e;jpahtpy; ,Ug;gJ> [g;ghdpah;fis ,e;jpahtpd; kPJ 

gilnaLf;Fk; gbahd miog;gpjo;” vd;w thf;fpaq;fis vOjpath; ahh;? 

a. kfhj;kh fhe;jp    b. [t`h;yhy; NeU 

c. Rgh~; re;jpuNgh];   d. mugpe;Njh Nfh~; 
 

49. Which of the following statement is incorrect regarding the 1857 mutiny? 
a. The Character of the Bengal troops was the worst. 
b. The English had control over the Indian seas and this helped the British 
soldiers. 
c. The Indians were fighting with primitive weapons 
d. The peasants participated largely in the 1857 munity 
1857 Mk; Mz;L> Gul;rp gw;wpa fPo;f;fz;l $w;Wfspy; jtwhdJ vJ? 

a. tq;fhs gilfspd; elj;ij NkhrkhdJ 
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b. Mq;fpNya gilfs; ,e;jpa flw;gFjpfis ifg;gw;wpf; nfhz;L gphpl;b~; 
tPuh;fSf;F cjtp nra;jJ. 

c. ,e;jpah;fs; kpfg;goikahd MAjq;fSld; Nghh; nra;jdh;. 

d. tptrhapfs; 1857 Gul;rpapy; mjpfkhf gq;nfLj;jdh;. 
 

 
Unit – VIII: History, Culture, Heritage and Socio – 

Political movements in Tamilnadu 
 
 

50. Natarajan Annadurai was popularly called as Arignar Anna by whom? 
a. Bharathidasan   b. Mahatma Gandhi 
c. E.V. Ramaswamy  d. Bharathiar 
eluh[d; mz;zhJiu mwpQh; mz;zh vd;W mioj;jth; ahh;? 

a. ghujpjhrd;    b. kfhj;kh fhe;jp 
c. <.Nt. uhkrhkp    d. ghujpahh; 
 

51. The Non-Brahmin Movement was started in the year? 
a. 1916   b. 1918   c. 1920   d. 1922 
gpuhkzh; my;yhj ,af;fk; ____ Mk; Mz;L> Muk;gpf;fg;gl;lJ. 

a. 1916  b. 1918  c. 1920  d. 1922 
 

52. The first self-respect conference held at Chengelpat under the chairmanship 
of 
a. T.M. Nair    b. W.P.A. Soundarapandian 
c. T.R. Venkatarama  d. Annadurai 
nrq;fw;gl;by; ,tuJ jiyikapy; Kjy; Rakhpahij khehL ele;jJ? 

a. T.M. ehah;     b. W. P.A. nrse;jpughz;bad; 

c. T.R. ntq;fl;uhk rh];jphp   d. mz;zhJiu 

 
53. Who presided over the Madras Session of Indian National Congress in 1927? 

a. Badruddin Tyabji   b. Annie Besant 
c. Dr. Ansari    d. Subhash Bose 
1927 nkl;uh];-y; eilngw;w ,e;jpa Njrpa fhq;fpuRf;F jiyik jhq;fpath; 
ahh;? 

a. gj;Ujpd; jpahg;[p    b. md;dpngrd;l; 

c. lhf;lh; md;rhhp     d. Rgh~; Ngh]; 

 
54. “Vadavengadam Thenkumari Aayidai Kurum Nallulagam” These lines are 

mentioned in which Tamil work? 
a. Thirukkural    b. Tolkappium 
c. Silapathikaram   d. Manimegalai 
“tlNtq;flk; njd;Fkhp Mapilj; jkpo; $Wk; ey;Yyfk;” ,e;j thpfs; ve;j 
jkpo; E}ypy; Fwpg;gplg;gl;Ls;sd? 
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a. jpUf;Fws;     b. njhy;fhg;gpak; 
c. rpyg;gjpfhuk;     d. kzpNkfiy 

 
55. Which among the following is not correctly matched? 

a. Tree-ring counting   - A.E Douglas 
b. Varve dating    - Baron Gerar de Geer 
c. Galcial varve sequence  - W.F. Libby  
d. Carbon 14 Method   - W.F. Libby 
gpd;tUtdtw;Ws; vJ rhpahfg; nghUj;jg;gltpy;iy? 

a. ku tisa fzf;fPL  - V.<. lhq;s]; 

b. thh;t; fhyf; fzpg;G  - Ngud; nfuhh; B fPh; 

c. gdpAf thh;t; thpir  - lgps;A+ v/g; ypg;gp 

d. fhh;gd; 14 fhpg;gFg;gha;T Kiw  - lgps;A+ v/g; ypg;gp 

 
56. Who was the Roman writer who made reference about the Pandyan 

kingdom in Tamil Nadu? 
a. Meguthenes  b. Strabo   c. Pliny   d. Augustus 
jkpofj;jpy; ghz;bah;fspd; Ml;rp Fwpj;j jfty;fis vOjpAs;s Nuhkhdpah; 
ahh;? 

a. nkf];jdp];    b. ];buhNgh 

c. gpspdp     d. mf];l]; 

 
57. Which Chief Minister of Tamilnadu received the Bharata Ratna award in 

1954? 
a. Bagthavachalam   b. Kamarajar 
c. Rajaji     d. Omandur Ramasamy 
jkpo;ehl;bd; ve;j Kjyikr;rUf;F 1954 Mk; Mz;L ghuj uj;dh tpUJ 
toq;fg;gl;lJ? 

a. gf;jtr;ryk;    b. fhkuh[h; 
c. ,uh[h[p     d. Xke;J}h; uhkrhkp 
 

58. In 1884, P.Anandacharlu and P.Rangaiya Naidu found a  political 
organization known as, 
a. Madras Native Association b. Bombay Presidency Association 
c. Madras Mahajana Sabha  d. Chennai Jana Sangam 
1884 Mk; Mz;L gp.mde;j rhh;Y kw;Wk; gp.nuq;ifah ehAL njhlq;fpa 
murpay; rhh;e;j mikg;G vt;thW mwpag;gl;lJ? 

a. nkl;uh]; Nel;bt; mNrhrpNa~d; 

b. ghk;Ng gphprpnld;rp mNrhrpNa~d; 

c. nkl;uh]; kfh[d rgh    

d. nrd;id [d rq;fk; 
 

59. In which year, for the first time Justice Party formed the Government in 
Tamilnadu? 
a. 1919  b. 1920  c. 1921  d. 1922 
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jkpofj;jpy; Kjd;Kiwahf ePjpf;fl;rp Ml;rp mikj;j Mz;L vJ? 

a. 1919  b. 1920  c. 1921  d. 1922 
 

60. Who played the most remarkable work on the Home Rule League in 
Tamilnadu? 
a. Mrs. Annie Besant    b. Mrs. Annie Joseph 
c. Sarojini      d. Muthulakshmi 
jd;dhl;rp ,af;fk; jkpofj;jpypUe;J cjakhf Kf;fpa fhuzkhd ngz; 
ahh;? 

a. jpUkjp.md;dpngrd;l;    b. jpUkjp.md;dpN[hrg; 

c. rNuh[pdp      d. Kj;Jnyl;Rkp 
 

61. The founder of the ‘Bharatha Ashram’ was 
a. Rajaji b. Subramania Siva  c. V.V.S.Iyer d. Periyar 
ghuj M];jpukj;ij Njhw;Wtpj;jth; 

a. ,uh[h[p  b. Rg;gpukzpa rpth c. th.Nt.R.Iah; d. nghpahh; 
 

62. Who was the best commentator on the Kural? 
a. Kambar       b. Agastiya   
c. Parimelalagar      d. Kalamehapulavar 
Fws; Fwpj;j rpwe;j tpsf;f ciuapid cUthf;fpath; ahh;? 

a. fk;gh; b. mf];jpah; c. ghpNkyofh; d. fhsNkfg;Gyth; 
 

63. Who published the book “Romapuri Ranigal”? 
a. C.Rajagopalachari    b. C.N.Annadurai 
c. M.Karunanithi     d. M.G.Ramachandran 
“NuhkhGhp uhzpfs;” vd;w E}iy ntspapl;lth; ahh;? 
a. rp.,uh[Nfhghyhr;rhhp    b. rp.vd;.mz;zhJiu 

c. K.fUzhepjp     d. vk;.[p.uhkr;re;jpud; 
 

64. Who was the author of Tembavani? 
a. Veeramamunivar    b. Robert-De-Nobili 
c. Zigen Balg     d. G.U.Pope 
Njk;ghtzpapd; Mrphpah; ahh;? 

a. tPukhKdpth;     b. ,uhgh;l; - b – nehgpyp 
c. rPfd; ghy;f;     d. [p.A.Nghg; 
 

65. According to Purananuru who was the head of the learned poets? 
a. Coola Vanigan Sathanar   b. Mamoolanar 
c. Mankudi Marudanar   d. Nappoodanar 
fw;wwpe;j rhd;Nwhh;fspd; jiytuhf GwehD}W ahiuf; Fwpg;gpLfpwJ? 

a. $y thzpfd; rhj;jdhh;   b. kh%ydhh; 

c. khq;Fb kUjdhh;    d. eg;g+jdhh; 
 

66. “The award given by “Iyal, Isai Nataka Mandram” is 
a. Kalaimamani    b. Athiyaman 
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c. Senthamizh    d. Nadikar Thilagam 
,ay;> ,ir> ehlf kd;wk; toq;Fk; tpUJ 

a. fiykhkzp b. mjpakhd; c. nre;jkpNo d. ebfh; jpyfk; 
 
 

Unit – IX: Development  Administration in Tamilnadu 
 

67. Which is the perennial river in Tamil Nadu? 
a. Noyyal River   b. Cauvery River  
c. Vaigai River   d. Thamirabarani River 
jkpo;ehl;by; “tw;whj [Pt ejp” vd;W miof;fg;gLk; MW vJ? 

a. neha;ahy; MW    b. fhtphp MW 

c. itif MW    d. jhkpuguzp MW 
 

 
68. Out of 13 Major ports in India, the state has three major ports _____, ______ 

and ______ 
a. Nagappattinam, Ennore and Karaikal 
b. Chennai, Tuticorin and Ennore 
c. Poompuhar port, Visagappattinam and Nagappattinam 
d, Tuticorin, Nagappattinam and Karaikal 
,e;jpahtpy; 13 JiwKfq;fspy; jkpo;ehl;by; 3 JiwKfq;fs; nghpa 

JiwKfkhf fUjg;gLfpwJ ___> ____ kw;Wk; ____. 
a. ehfg;gl;bdk;> vz;Z}h; kw;Wk; vz;Z}h; 

b. nrd;id> J}j;Jf;Fb kw;Wk; vz;Z}h; 

c. G+k;Gfhh; JiwKfk;> tprhfg;gl;bzk; kw;Wk; ehfg;gl;bdk; 

d. J}j;Jf;Fb> ehfg;gl;bdk; kw;Wk; fhiuf;fhy; 
 

69. According to UNDP-Report 2015. In India, _____ state ranks 6th in Human 
Development Index (2015). 
a. Punjab   b. Kerala   c. Tamil Nadu  d. Gujarat 
If;fpa ehLfspd; tsu;r;rpj; jpl;lk; mwpf;if 2015d; gb> ,e;jpahtpy; ve;j 
khepyk; kdpj Nkk;ghl;L ml;ltiz (2015) Mk; Mz;by; 6tJ ,lj;jpy; 
cs;sJ? 

a. gQ;rhg;  b. Nfush  c. jkpo;ehL  d. F[uhj; 
 

70. Which is the Nodal Agency to drive all e-Governance initiatives of Tamil 
Nadu? 
a. ELCoT   b. TAcTV  c. TNeGA  d. NIC  
jkpo;ehl;by; midj;J e-Nrit jpl;lq;fis mky;gLj;Jk; Kjd;ik Kfik 
vJ? 

a. ELCoT  b. TAcTV  c. TNeGA  d. NIC 
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71. The help financially Rs. ____ for the orphan girls for their marriage (Annai 
Theresa Ninaivu Orphan Girls marriage assistant scheme) by social welfare 
and nutritious meal programme department 
a. Rs. 50, 000 b. Rs. 1,00,000 c. Rs. 15,000 d. Rs. 40,000 
md;id njurh epidT mdhij ngz;fspd; jpUkz cjtpj; jpl;lj;jpd; 
%ykhf rKjha eyd; kw;Wk; rj;JzT jpl;lj;jpd; Jiwahy; mdhij 
ngz;fspd; jpUkzj;jpw;F nfhLf;Fk; njhif vt;tsT? 

a. &.50>000  b. &.1>00>000  c. &.15>000  d. &.40>000 
 

72. In 2016-17 according to the directorate of Economics and statistics, Tamil 
Nadu, the GSDP of Tamil Nadu is the 
a. Second Largest economy in India 
b. Third largest economy in India 
c. Fourth largest economy in India 
d. Fifth Largest economy in India 
2016-17 Mk; Mz;by;> jkpof nghUspay; kw;Wk; Gs;spay; 
,af;Fdufj;jpd;gb> jkpofj;jpd; nkhj;j khepy cs;ehl;L cw;gj;jp 

a. ,e;jpahtpy; 2-Mk; ,lj;ij gpbj;Js;sJ. 

b. ,e;jpahtpy; 3-Mk; ,lj;ij gpbj;Js;sJ.  

c. ,e;jpahtpy; 4-Mk; ,lj;ij gpbj;Js;sJ.  

d. ,e;jpahtpy; 5-Mk; ,lj;ij gpbj;Js;sJ. 
 

73. Which position does Tamil Nadu occupy in organ transplantation during 
2019? 
a. First Place  b. Second Place  c. Third Place  d. Fifth place 
2019-k; Mz;bd; kdpj cWg;G khw;W rpfpf;irapy; jkpo;ehL ve;j ,lj;jpy; 
cs;sJ? 

a. Kjyhk; ,lk;     b. ,uz;lhk; ,lk; 

c. %d;whk; ,lk;     d. Ie;jhk; ,lk; 
 

74. Human Development Index was develop by the Pakistan Economist 
Mahbub ul Haq and the Indian Economist ______ in 1990 
a. Dr. Amartya Sen    b. Dr. Manmohan Singh 
c. Dr. Jagdish Bhagwathi  d. Dr. Arvind Subramanian 
kdpj Nkk;ghl;Lf; FwpaPL vd;gij ghfp];jhd; ehl;il rhh;e;j nghUspay; 
mwpQh; k`g+g; cy; `f; vd;gtUk; ,e;jpahitr; Nrh;e;j mth;fSk; 1990-y; 
Nkk;gLj;jpdh;. 

a. Dr. mkh;jpahnrd;    b. Dr. kd;Nkhfd; rpq; 
c. Dr. n[fjP~; gftjp    d. Dr. mutpe;j; Rg;gpukzpad; 
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UNIT – X: Mental Ability  
Stepwise Solution 

 

75. Brindha secures 85%, 86% and 84% marks in the test papers with 100, 150 
and 200 respectively as maximum marks. The percentage of his aggregate is 
a. 84.88%  b. 72.61%  c. 64.26%  d. 61.44% 
gpUe;jh vd;gth; 100> 150 kw;Wk; 200-I mjpfgl;r kjpg;ngz;fshff; nfhz;l 

Njh;tpy; KiwNa 85%> 86% kw;Wk; 84% ngw;whh; vdpy; mthpd; nkhj;j 
Njh;r;rp rjtPjk; vd;d? 

a. 84.88%  b. 72.61%  c. 64.26%  d. 61.44% 
 Explanation: 

85 86 84100 85 150 129 200 168
100 100 100

85 129 168 100
100 150 200

382 100 84.88%
450

× = × = × =

+ +
⇒ ×

+ +

⇒ × =

 

 

76. In an A.P the sum of first n-terms is 
25 3

2 2
n n

+ . Find the 17th term. 

a. 664   b. 84   c. 748   d. 48 

xU $l;Lj; njhlh; thpirapy; Kjy; n-cWg;Gfspd; $Ljy; 
25 3

2 2
n n

+  vdpy;> 

17-tJ cWg;igf; fhz;f. 

a. 664   b. 84  c. 748   d. 48 
 Explanation: 
 17th Term = (Sum of 17 Terms) – (Sum of 16 Terms) 

          

5 289 3 17 5 256 3 16
2 2 2 2

1445 51 1280 48
2 2
1496 1328

2 2
748 664 84

× × × ×   = + − +   
   

+ +   = −   
   

= −

= − =

 

 
77. Find the next term: 

1, 5, 11, 19, 29 … 
 a. 41   b. 43   c. 42   d. 40 

mLj;J tUk; vz; ahJ? 

1> 5> 11> 19> 29> …. 

a. 41   b. 43   c.43   d. 40 
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 Explanation: 
 1 + 4 = 5,  5 + 6 = 11 11 + 8 = 19  19 + 10 = 29   
 Next Term: 29 + 12 = 41 
 
78. A can complete a work in 12 days. B can complete a work in 20 days. A and 

B together work for 3 days after that A left the work. B can complete the 
remaining work in  
a. 9 days   b. 11 days   c. 12 days   d. 13 days 
A xU Ntiyia 12 ehl;fspy; Kbg;ghh;. mNj Ntiyia B> 20 ehl;fspy; 
Kbg;ghh;> A kw;Wk; B Nrh;e;J 3 ehl;fs; Ntiy nra;jgpd; A nrd;W tpl;lhh;. 

kPjp Ntiyia B Kbf;f Njitg;gLk; ehl;bfs; 

a. 9 ehl;fs;     b. 11 ehl;fs; 
c. 12 ehl;fs;    d. 13 ehl;fs; 

 Explanation: 
 

 
 

79. Two pipes can fill a tank in 30 minutes and 30 minutes separately. Third 
pipe can empty the tank in 24 minutes. If all the pipes kept open the tank 
can be filled in 
a. 45 Minutes    b. 50 Minutes   
c. 60 Minutes   d. 70 Minutes 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 30 epkplq;fs;> 40 
epkplq;fs; epug;GfpwJ. Kw;nwhU Foha; ePh; epuk;gpa njhl;bia 24 epkplj;jpy; 
fhyp nra;Ak;. njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; xNu rkaj;jpy; 
jpwe;J tpl;lhy; mj;njhl;b epuk;g Njitg;gLk; Neuk;. 

a. 45 epkplq;fs;    b. 50 epkplq;fs; 
c. 60 epkplq;fs;    d. 70 epkplq;fs; 
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 Explanation: 
 

 
 

80. The ratio of the volume of a cone, a sphere and a cylinder if each has the 
same radius and same height is 
a. 1:4:3  b. 1:3:4  c. 4:3:1  d. 3:4:1 
rkkhd Muk; kw;Wk; cauk; $k;G> Nfhsk;> cUis Mfpatw;wpd; fd 
msTfspd; tpfpjk;. 

a. 1 : 4 : 3   b. 1 : 3 : 4  c. 4 : 3 : 1  d. 3 : 4 : 1 
 Explanation: 

2 3 2

3 3 3

Volumeof a Cone: Volumeof a Sphere : Volumeof a Cylinder
1 4: :
3 3

1 4: :
3 3
1 4: : 1
3 3
1 : 4 : 3

r h r r h

r h

r r r

π π π

π π π

=

 

81. Find compound interest on ì  12,600 for n = 2 years at r = 10% per annum 
compounded annually 
a. 15, 246  b. 2, 466  c. 2, 646  d. 1, 386 
mry; ` 12>600> Mz;L tl;b tPjk; r = 10%, n = 2 Mz;Lfs;> Mz;Lf;nfhU 

Kiw tl;b fzf;fplg;gl;lhy;> $l;L tl;biaf; fhz;f. 

a. 15,246  b. 2,466  c. 2,646  d. 1,386 
 Explanation: 
 

100% 10 10 21%
100

R = + + =  
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21. : 12600 2646
100

C I × =  

 
82. The difference between compound interest and simple interest for ì  8, 000 at 

10% per year for 2 years is 
a. ì 75   b. ì 80  c. ì 85  d. ì 100 
8>000f;F 10% tl;b tPjk; Mz;bw;F vdpy; 2 Mz;Lfspy; $l;L tl;bf;Fk; 
jdp tl;bf;Fk; cs;s tpj;jpahrk; 

a. ` 75  b. ` 80  c. ` 85d. ` 100 
 Explanation: 

2100Difference

Difference 100 1008000
10 10

Difference 80

P
R

 = × 
 
× ×

=
×

=

 

 
83. The difference between simple interest and compound interest of Rs. 18,000 

in 2 years is 405 then the rate of interest is  
a. 10%  b. 15%  c. 20%  d. 25% 
&. 18>000f;F 2 tUl $l;L tl;b kw;Wk; jdp tl;bapd; tpj;jpahrk; &. 405 
vdpy; tl;btPjk; vd;d? 

a. 10%  b. 15%  c. 20%  d. 25% 
 Explanation: 

2

2

2

100Difference

405 100 10018000

405 100 100 225
18000

15%

P
R

R

R

R

 = × 
 

× ×
=

× ×
= =

=

 

 
84. The product of Arun’s age (in years) to years ago and his age three years 

from now is three than thrice his present age what is his present age? 
a. 3   b. 4  c. 5  d. 6 
mUzpd; jw;Nghija tajpd; %d;W klq;NfhL 3ia fopj;jhy; fpilg;gJ 
mUzpd; ,uz;L Mz;L Ke;ija taijAk; %d;whz;Lfs; gpe;ija 
taijAk; ngUf;f fpilg;gjw;F rkk; vdpy; mUzpd; jw;Nghija taJ? 

a. 3   b. 4   c. 5   d. 6 
 Explanation: 

 
 Let, Arun’s Present Age be x. 
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( ) ( )

( )( )

2

2

2 3 3 3

6 3 3
2 3 0
3 1 0

3 0 3

x x x

x x x
x x
x x

x x

− × + = −

+ − = −

− − =

− + =

− = ⇒ =

 

 
85. Find the value of 75983 75983 45983 45983

300000
× − ×  

a. 45983  b. 121966  c. 120669  d. 121196 
kjpg;G fhz;f: 

75983 75983 45983 45983
30000

× − ×
 

a. 45983  b. 121966  c. 120669  d. 121196 
 Explanation: 

2 2( ) ( )( ) ( )
( ) ( )
a b a b a b a b
a b a b
− + −

= = +
− −

where a= 75983,  b = 45983 

  = (75983 + 45983)=121966 

86. If (x+l)(x+m)=x2+4x+2 then the value of l2+m2 is 
a. 12  b. 4  c. 48   d. 14 
(x + l)(x + m) = x2 + 4x + 2 vdpy; l2 + m2 d; kjpg;G 

a. 12  b. 4  c. 48  d. 14 
 Explanation: 

( )( ) ( )

( )

2

2

2 2 2

2 2 2

2 2

4 2
4 2

2

4 2 2
16 4 12

x l x m x l m x lm

x x
l m lm

l m l m lm

l m
l m

+ + = + + +

= + +
+ = =

+ = + +

= + + ×

+ = − =

 

 
87. What is the condition that three non-zero numbers a, b, c are in Arithmetic 

progression 
a. 2b= a + c  b. 2a = b + c c. 2c = a + b d. a = 

2
b ca +

=  

%d;W g+r;rpakw;w vz;fs; a, b, c vd;gd ,U $l;Lj;njlh; thpirapy; 
,Ue;jhy; epge;jid 

a. 2b= a + c  b. 2a = b + c c. 2c = a + b d. a = 
2

b ca +
=

 
 Explanation: 
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2
a b b c
a c b
− = −
+ =

 

 

88. The middle term of an finite A.P 4, 7, 10, …118 is 
a. 55  b. 58  c. 61  d. 64 
4> 7> 10>…. 118 vd;w KbTW $l;Lj;njhlhpy; eL cWg;G 

a. 55  b. 58  c. 61  d. 64 
 Explanation: 

4 118Middle Term = 
2 2

122 61
2

a l+ +
=

= =
 

 

89. Arithmetic mean of the values 9, 6, 7, 8, 5 and x is 8, then the value of x is 
a. 48  b. 13  c. 15  d. 12 
9> 6> 7> 8> 5 kw;Wk; x Mfpatw;wpd; $l;L ruhrhp 8 vdpy; x d; kjpg;G 
a. 48  b. 13  c. 15  d. 12 

 Explanation: 
9 6 7 8 5 8

6
35 8

6
35 48

48 35 13

x

x

x
x

+ + + + +
=

+
=

+ =
= − =

 

 

90. In a certain code, ALGEBRA as BKHDCQB, then GEOMETRY is coded as  
a. HDPLFUSX b. HDPLFSSX c. HFPLFUSX d. HFPLFUSZ 
,ufrpa FwpaPl;L Kiwapy; ALGEBRA vd;gij BKHDCQB vdf; Fwpj;jhy; 
GEOMETRY vd;gij vt;thW Fwpf;fyhk;? 
a. HDPLFUSX b. HDPLFSSX c. HFPLFUSX d. HFPLFUSZ 

 Explanation: 
 A + 1 = B G + 1 = H  B = 1 = C  A + 1 = B 
 L – 1 = K E – 1 = D  R – 1 = Q 
 The letters at the odd positions are replaced by the letters succeeding them while 
 the letters at the even positions are replaced by the letters preceding  them. 

 

91. Area of rhombus with diagonals as 6 cm and 8 cm is 
a. 12 cm2  b. 18 cm2  c. 24 cm2  d. 36 cm2 
%iytpl;lq;fs; 6 nr.kP kw;Wk; 8.nr.kP nfhz;l rha; rJuj;jpd; gug;G 

a. 12 r.nr.kP  b. 18 r.nr.kP  c. 24 r.nr.kP  d. 36 r.nr.kP 
 Explanation: 
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1 2

2

1
2
1 6 8 24
2

Area d d

cm

= × ×

= × × =
 

 

92. What is the ratio of volume to surface area of a sphere? 
a. r : 3  b. 3 : r  c. 1

3
 : 1  d. 1

3
 : r 

xU Nfhsj;jpd; fd msT kw;Wk; Gwg;gug;G Mfpatw;wpd; tpfpjk; vd;d? 

a. r : 3  b. 3 : r  c. 1
3

 : 1  d. 1
3

 : r 

 Explanation: 

3 2

2

:
4 : 4
3

4

: 1
3

: 3

Volume Surface Area

r r

r
r

r

π π

π÷
 

 

93. Curved surface area of a solid sphere is 36 cm2. If the sphere is divided into 
two hemisphere then total surface area of one of its hemisphere is 
a. 9 cm2  b. 12 cm2  c. 18 cm2  d. 27 cm2 
xU jplf;Nfhsj;jpd; tisg;gug;G 36nr.kP2. mjid ,U miuf; Nfhsq;fshf 
gphpj;jhy;> xU miuf;Nfhsj;jpd; nkhj;jgug;G vd;d? 

a. 9 nr.kP2  b. 12 nr.kP2  c. 18 nr.kP2  d. 27 nr.kP2 

 Explanation: 
 CSA of a Sphere   24 rπ = 36 cm2 

 TSA of a Hemi Sphere  23 rπ = ? 

    236 3 27
4

cm×
∴ =  

 

94. (a + b)2 + (a - b)2 = 
a. 4 ab  b. 2 ab  c. c2 + 2ab + b2  d. 2(a2 + b2) 
(a + b)2 + (a - b)2 = 
a. 4 ab  b. 2 ab  c. c2 + 2ab + b2  d. 2(a2 + b2) 

 Explanation: 
( )
( )
( ) ( )

( )

2 2 2

2 2 2

2 2 2 2 2 2

2 2

2

2

2 2

2

a b a b ab

a b a b ab

a b a b a b ab a b ab

a b

+ = + +

− = + −

+ + − = + + + + −

= +
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95. Which of the following should be added to make x4 + 64 a perfect square  
a. 4x2   b. 16x2  c. 8x2   d. -8x2 
x4 + 64 KO th;f;fkhf khw;w mjDld; gpd;tUtdtw;Ws; vijf; $l;l 
Ntz;Lk;. 

a. 4x2   b. 16x2  c. 8x2   d. -8x2 

 Explanation: 
( )22 4 28 64 16x x x+ = + +  
 

96. What percentage of a day is 10 hours? 
a. 4.617%  b. 46.17%  c. 41.67%  d. 14.67% 
xU ehspy; 10 kzp Neuk; vd;gJ vj;jid rjtPjk;? 

a. 4.617%  b. 46.17%  c. 41.67%  d. 14.67% 
 Explanation: 

10 100 41.67%
24

× =  

 
97. Three numbers are in the ratio 3 : 5 : 7 and their average is 60. Find the 

smallest number? 
a. 36   b. 12   c. 15   d. 48 
%d;W vz;fs; 3 : 5 : 7 vd;w tpfpj;jpy; cs;sd. mtw;wpd; ruhrhp 60 vdpy;> 
mt;ntz;fspy; kpfr;rpwpa vz; ahJ? 

a. 36   b. 12   c. 15   d. 48 
 Explanation: 

Sum of Three Numbers=60 3=180
180Smallest Number= 3

3+5+7
180 3 12 3 36
15

×

×

= × = × =

 

 
98. Find the 4th proportional to 4, 16 and 7. 

a. 22   b. 25   c. 28   d. 29 
4> 16 kw;Wk; 7f;F 4tJ tpfpj rkk; fhz;f. 

a. 22   b. 25   c. 28   d. 29 
 Explanation: 

Let the 4th proportional = N 
Then, 4 : 16 : : 7 : N 
⇒ 4/16 = 7/N 
⇒ 4N = 7 x 16 
∴ N = (7 x 16)/4 = 7 x 4 = 28 
 

99. If  7 : 5 is in proportional to x : 25 then x is 
a. 14   b. 27   c. 35   d. 49 
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7:5 kw;Wk; x : 25 tpfpj rkk; vdpy; x-d; kjpg;G 
a. 14   b. 27   c. 35   d. 49 

 Explanation: 
7 7 25 35
5 25 5

x x= ⇒ = × =  

 
100. Find the LCM of 2×3×5×7 and 3×5×7×11 

a. 2×3×5×7×11    b. 2×32×52×72×11 
c. 3×5×7     d. None of the above 
kP.ngh.k. fhz;f : 2×3×5×7, 3×5×7×11 
a. 2×3×5×7×11    b. 2×32×52×72×11 
c. 3×5×7     d. Nkw;fz;l vJTkpy;iy 

 Explanation: 
 

( )2 3 5 7, 3 5 7 11
2 3 5 7 11

LCM of
LCM

× × × × × ×

= × × × ×
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